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ART-37 PART-A
1. qRaitereTge yomg 01 & ¢ Whatis peroxide effect?
2 Feriores T weTd 41 & ? What is Secondary Isotope Effect ?

3 fore Afires a1 B/ v & [UPAC T Rifad |
Write down the [UPAC name of the following compund by E/Z system:

G COOH
2 :\\ /
c=C
e T
H - CH; .

4 Aireréiies oF T Mieh #4067
‘ Whymesotartaric acid is optically inactive ?
5 udifes o 9 TgH 39 9 7How ethane can be prepared from aceticacid ?

6. 8055 & Forem @ @uEngd | Explain Saytzeff's rule. .

| 7.%‘%@@ngmm%mﬁ%opﬁﬁsﬁ% |

gaemsd @41 ? Explain why chlorine attached to a benzene ring exerts a
deactivating effect even thenitis ortho-paradirecting?

8 =i & SIEITES el T 7

How will you prepare benzaldehydefrom benzene ?

0.qfE e FEINES [l TEge [deaT & q 93T SR T © Eh n-
e FINES Tl Al | TR 4 2 f
Explain why tertiary butyl chloride gives white Aprecipitate with silver
nitrate solution whereas n-butyl chloride does not? =
10.xRm afy e ? Whatis Raschig's process ?
-9 PART-B ' | -
T L (1) o=t Qi fewiom ffed - (1) B (if) S8 | |
Write short notes on the following : (i) Carbone (ii)_Benzyne. ~ $9dl /OR
(2) e - () g e e, e S FEpa
ey AT EE © 1 (i) 2-SCH, |- TR A s eE e |
Explain why : (i) Tertiary butyl carbocation is more stable than
secondary butyl carbocation. (ii) 2-butene is more stable than 1-butene. .
g, (3)(a) D.d T L,/ Siesrq § #7 ofex & ? (b) dEaer qur o J
sia s 7 (c) P wal I e o« (i) Wit frsrer (if) aree S |
(a) What is the difference between D,d and L,/ notations ? (b) What is
difference between conformation and confuguration ? (¢) Defne the terms: (1)
R acemic mixture (ii) Walden inversion. argar / OR
(4) Fer=t ¥ wiferer fewforar f5RaE - Write short notes on':
(i) el o ford 9 (i) R e e e & (i) e gaer o
(i) Erytho and threo forms (11) f}iastcromers and enantimers (iii) Mutarotation.
Rl (5) = T At eoforn ffEd : (1) de-uest
(ii) mg;ﬁé]ﬁw—aﬂ?ﬂﬁﬁﬂ I Write short notes on : (i) Diel's-Alder reaction
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(1) Hydroboration-oxidation. _ SN?IT/OR
(6) =1 %t 5 A, BT C ol Teei -
(i) CH,CH=CH;: S0y A PCls
i ‘ ) alc C

RO

CH3 -,'“
(if) CH,-C=CH-CH, " A o
: Zn ‘ B+C
(iii) CH,C=CH™A“"" B
dilH2S04 ==

= [V, (7) &1 Biell & STelih (i)%ﬁ‘ﬁ?{mwa‘gaﬁvzoscmﬁgﬁm
ST R 1(ii) et TR @ KMnO, & ST F3 & \(iii) TEfei= Bl T
* (ce) e & ERT SIS | | &gt /OR
 What happens when : (i) Benzene vapours and air are passec.l through
V,0, .(ii) Orthoxylene is osidised with KMno,.(ili) Acetylen is passed
through red hot tube ? ' ‘

(8)qwEEd 6 17 (i)%@aﬂmﬁmﬁqﬁaﬁﬁ%ﬁhﬁmﬁmﬁ C eIl
ﬁWW(%@GFﬁW)@W%WﬁE%@WW&%WﬁWWW .
ST B & | | | | |

(ii)m@mﬁ@@ﬁﬁ%ﬁmaﬁ%aﬁﬂmwm

T e AT AR E |
Explain why : (i) In the abgence of halogen carrier halogenation occurs

in the side chain whereas in.thé presence of halogen carrier halogenation

occurs in the benzene¢ ring. (ii) Cyclo octatetrance is not an aromatic

i isoldium cyclo octadienide is an aromatic compound.
compound butits saltdiso :
ARV (9)3&16@3@@3%@&@%%31@&% S, TT Sy, et a et
gl | Describeithe mechanism of Sy, TT Sy, reactions of alkyl halides

with suitable examples. | | aEEn /OR
(Io)(i)DDTaﬂﬁsawwmgnwa‘Tﬁml |
Gif@H;Cl Wﬁ@ﬁﬁ%ﬁﬁmﬁ%aﬁwﬁawﬁﬁ%w

@ﬁ{@ﬁweﬂ%rumcwﬂm[ - |

(1) Give synthesis of DDT and its full name.
(i) Prepare all possible isomers of aromatic compound-of molecular

formula C,H,C | and give their [UPAC names.
-9 PART-C
(i) g srfeyfapat & 7T AT @ ? e SEErT T HHEE |
(ii) ﬁmmmﬁﬁmﬁmﬁmwwwmﬂ?ﬁﬁwﬁwvﬁqﬁm:

(i) What i« meant by rearrangement reactions ? Explain with suitable
nple. (i) predict the possible intermediate expected from each reaction :
examplc.

(i) (i) CH;N=N= CH,>
(i) Cl l,}Nf-“a
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(iii) CH,—C—CH+H" —

CH,

(iv) l\/" +CHCl +KOH — -

Brr
|
OGN

" ligNH, - |
2. EEAT B P n-SA T WIS o & [ SIS A T8 G
© T e O GO S | I T o gy | '

What are conformations ? Describe the different conformations with the
help of Newman's projection formulae of n-butane.and cyclohexane. Discuss
their stability also. J -

3.0 B SQIOHIHTT T ST AT THER & ¢ 59 Blol-SalomIhIT 1 Had o ¢
C, H,, 3T art T T & A 9§ [g T 9 Arfieaietd oG &
T TR G A SR | I Ao St el & b ey |

What do you mean by halogenation of alkanes ? Why it is called
photohalogenation ? Wite the namies and formulae of different alkanes with
the molecular formula C{H ,and their monohalogen derivatives. Give type of

monohalogen derivatives also. L
4 Fr=1 1) dRtG RwlmE [ied : (i) @ide Tee (i) wWiafks ves frama
(iii) ST SRR (iv)gere Sffeshan (v) 2fives Tt e |
Write short notes on : (i) Wheland intermediate (ii) Aromatic Sextet
theory (iii) Ulmann reaction (iv) ltard's reaction (v) Hammick-Illingworth's

rule.

5 (a) Forer afsrfsraraTt &l quf iR © (a) Complete the following reactions :

(i) CH,CHO+Cl,+OH —>
(ii) CCl,+SbF—>
(iii) CHCl,+CH;—C—CH;—>

0

(b)r{w@mﬁ:(1)2,6-asﬁﬁaaahﬂawﬁqaa@ﬁmﬁmlmﬁwaa
e | (i) T F A A ST aie ] el e
e @ ot FEa & 1 (i) ST TS T e e &
ofer arferes fepanefe @ | (iif) .o 9. ov g feoof fifed |
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b
KNH(

chlor

) E;plafin why © (1) 2,6 dimethyl chlorobenzene does not react with
>IN liquid NH,.(it) Chlorine atom attached with benzene ring in
Obenzene is innert towards Nucleophilic subsititution reactions. (iii)

e LT . = S X
nzyl Chlc_n ide is more reactive towards Nuclephilic subsitution reaction.
(¢) Write short note on B.H.C.
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